I think | use all of the things | learned on the class and more. The problem | had encounter the
most is probably the unit conversion. | would have converted everything to make my answer
much more desirable. The best one | did are problem A and E. Problem B, C, and D are not
exactly the same as the answer sheet, but the process is correct. | think the problem is my unit.
But, the last problem (g), this one is wrong wrong wrong. | thought the phenomenon was not
dealing with cavitation but with water hammer. | think this is where | made a mistake. | was
surprised at the equation.

| could not find the rubric for the test so | could not write it as shown on the first test, but |
believe | should get a B or a C. | could not image myself of getting an A. | made unit mistakes and
the very last question is wrong. The strength | demonstrated in the test is | got the flow and
procedure in a write way. My unit especially the P is terrible. The problem had most trouble on
solving is the last problem. | did not remember doing that in class, so | look at the book to find
how to solve it. | thought it was in the last chapter of chapter 11. My assumption is wrong.

| think | would have enough time to do it and revise my answers if | did not have a personal
problem while doing the test. | didn’t want to discuss that in here. The problem main source is
time. From what | learn in government job is, we could always ask to extent on the due that as
long we submit the correct data in the end. But school is different. But | think problems A and E
are correct. Except problem g, | think | also did not do bad for the other problem. My unit was
wrong, but | believe | showed that | did the procedure correctly.

| do want to change something such as fixing my unit and probably using only one type. | do not
know how to fix the last problem (g).

New concepts have you learned is using the %diff=RHS-LHS/LHS. Plus, | think I learned a lot on
using excel such as f4 such. | think engineers use those concepts when dealing with
troubleshooting. | work in a place where we make prototyping, first article, and doing
production level, and | think we use troubleshooting extensively. Too many complications were
happening in different stages as well. | honestly do not know where | will use all of this
anywhere. | mean | use excel in BOMs and probably schedules but never did to show percentage
or error difference to anybody. | mostly do not need to show equation because everything was
provided to use from a data table or within a spec of something. Plus, most of what | deal with
are cabinets, cables, and fab drawing. | do not believe | have learned something | will use for my
professional career. Maybe, | learned to be patient.

Areas | feel | was most successful or improved the most is probably doing the procedures
correctly and knowing how to do the Bernoulli’s. | do not know if you notice but | solve
Bernoulli’s at the beginning and use it as my baseline where | get my units. | still believe | did the
best choice. | think I did not do well with time. | tried to be organized everything. | also tried to
put all the info | needed in the test. | do not know why but | was on panic mode the whole time.
| was dealing of something as well. But, regardless of that | still did not think I did that bad. | still
think | did my best on the test and | do wish | had more time. | know what | did most on and that
was time and my unit conversion. | was too focus on doing something else that | forgot to
submit the test2 where you going to comment on the Saturday. | kind of mixed up the days. But,
despite that, | still did well in my opinion. | actually think | did better without help this time
better than the one | did on test1. | think | got most of the correct direction of thinking how to



solve it because of when the teacher said something about it being two system. That time | do
not understand that comment but then | saw chapter 11. | think | did answer test 2 without help
and | think my procedure is closing than when | did solo on test 1. On test 1, | needed help on
having the correct mindset. | think | got the correct mindset on test2. My direction is correct,
and my procedure and process were also correct. | kind of messed up on picking certain
variables and incorrect unit. With all this being said, Il in all | still believe | did well.
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| could not finish all the excel from to b.

Problem A
0.017
01 %
1.73E- 2.09E-
02 02
1.36E- 1.45E-
01 01
0.167 ft3/s
0.1 0.11

2.49E-
02
1.53E-
01

0.12

2.92E-
02
1.62E-
01

0.13

3.39E-
02
1.70E-
01

0.14

3.01E-02 FT2

1.63E-01

0.131828 FT

RIGHT

1.67E-
01
1.67E-
01
1.67E-
01
1.67E-
01
1.67E-
01
1.67E-
01

LEFT

0.08499

0.10729

0.13271

0.16139

0.19345

0.16700

%diff

9649.65%

5565.85%

2583.48%

347.29%

-1367.17%

0.00%



Q Vv NR D/E f PIPE DIA HL1 HL2 HL3 HL
0.167038 | 11.81314 | 131018.5 | 894.6667 | 0.044007 | 1.585460364 | 1.083466 | 20.62919 | 18.04411 | 39.75676
Problem b

P1 Al RX RY
9805 0.001314 | 29.91169 | -29.9117
Problem d

D
d/D sSw Vv Al A2 NR C
0.5 62.4 1.21E-05 | 0.014138 | 0.003534 | 65491.81818 0.605
Problem c
d= 1.1 | ft
P= 52.17143
SH= 1.68E+03
SW= 6.24E+01
g= 32.2 | ft/s
D= 29.6 29.4 29.5 29.6 29.7 29.8
RIGHT LEFT %diff
1| 2.96E+01 29.60000 4.72%
2 | 2.96E+01 29.90000 -95.66%
3 | 2.96E+01 29.50000 38.64%
4 | 2.96E+01 29.60000 4.72%
5 | 2.96E+01 29.70000 -28.96%
2.96E+01 29.80000 -62.42%




